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el 3 oc2—27 V) v RZER
3. 30t —27 Y v FZER.
> NEE v - w = tvw.
> X7 FPLOREEZ (VL) v = w.
> 2 MO d(P, Q) = |PC).
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el | FRA
f:R? = R BERZEW < d(f(P), £(Q)) = d(P,Q) (VP, Q)
> 3REZATINREOES 1 O(3).
> 3 RESATHND 5 BATHIRA 1 Db DR SO(3).
> [ PEFEREW & f(x) = Az +a (A € 0(3), a € R3)
> f(x) = Az +a (A€ SO(3), acR?) A& EHEOFERLH
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| . N2 MILFE
a, bBELceRPITHRLT

det(a,b,c) = (axb)-c

axb
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el - X7 bILEE

> XY

> AR

> a,bec R DP—ZIV < axb#0.

» axbla, b

> Ae€S0(3) = (Aa) x (Ab) = A(a x b).

> A€ 0(3)\SO(3) = (Aa) x (Ab) = —A(a x b).
> |a x b]> = |af]?|b]* - (a-b)*.
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Wl . F 4> L—)L

> fHEBU C R? ECERS N C-HkBI%L
> v:R D (a,b) 3t () ="(u(t),v(t)) € R? : C®

> y=fory
dy . _ du  Of dv  Of
5 (B = g W5 (u(t), v(t) + — () 5 (u(t), v(?)).
TRebbH

’;)’ = (fu7 fv)’y

2022/12/08 6 / 15



Wl . F 4> L—)L
> o:R2OV 35En) = (& n) ="(u&n),v(En) eR?:
COO
> y:RD(a,b) >t y(t) = (§(t),n(t) €V 1 C

> y=por.
B ey = (‘;_Z(*)%(t) + g—;‘@)%(t), g—z(*)%@) + Z—;o«%@))

=1L (+) = (€(1), (). Thbb

L . L ’LLg un
7= (P o (’Ug Un)) '
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Wl . F 4> L—)L

> fHEBRU Cc R? ECERINIT C-FBEK
> 0:R2DV 3 (&) — o(&,n) = (u&,n),v(En) € R . C®

> f=fop
of of of
e - 5(5, W )+ 5(5, N2 ()
f(a) <»:,>f<> <»:,>f<>

72720 (%) = (w(&,n),v(&n). THRDOE

e = Gutp (Pi= (15 00))
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{5 - Yo FIAE

EFR

FEER U C R2 2588 V C R2 ANDLHY o: U — V 25
MEBRTHZ LR, o & o ! BRI Oz ThH3.
CNBEEE Y WS 2 b D S,

ER (W EARER)
> MAFMHESR o: R”2DOU -V CR?2 oY abfiilii U 0%
RTCIERUTA. F7bbva gl (varry) 3ET
AQNN
> CCMREBR 0: R2DOU - R?2 Y a4l P e U TIE
Q72 513, P Oiith Uy BEFIEL T, ¢|u,: U — ¢(Uo) (3%
DR E 72 5.
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2—27 ) v K2R o sl

51
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2—27 ) v K2R o sl

il
REBES : F(2,y,2) =0
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L 5] e

TR U C R2 205 R3 AD O°-#Bl%:

p: U 3 (u,v) — p(u,v) = t(x(u,v),y(u,v),z(u,v))

DIHE D IER R X — R FIR % 72 BRI i
— U DER (u,v) BT py(u,v), py(u,v) B—MIL.

v

Av)

Y

pudv
u—curves

v—curves
pulu
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L 5] e

(z,y) = (2,9, f(z,9))
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(ERI
t(x(t),z(t ) zz FHE_EOERER 5 () > 0.

p(u,v) = t(a:(v) cosu, z(v) sinw, 2(v)).
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VA B = 3
t=
PIany

> EFRIMOME
> HERX
> RXIX—ZDE O

LI/
Ow
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